

Factors for absolute Riesz summability methods

HÜSEYİN BOR

ABSTRACT. In this paper we prove a theorem on $|\overline{N}, p_n; \delta|_k$ summability factors, which extends a theorem of Bor [3] on $|\overline{N}, p_n|_k$ summability factors.

1. Introduction

Let $\sum a_n$ be a given infinite series with the partial sums (s_n) and let (p_n) be a sequence of positive numbers such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty \quad \text{as } n \rightarrow \infty \quad (P_{-i} = p_{-i} = 0, \quad i \geq 1).$$

The sequence-to-sequence transformation

$$u_n = \frac{1}{P_n} \sum_{v=0}^n p_v s_v$$

defines the sequences (u_n) of the Riesz means or simply the (\overline{N}, p_n) means, of the sequence (s_n) generated by the sequence of coefficients (p_n) (see [4]). The series $\sum a_n$ is said to be summable $|\overline{N}, p_n|_k$, $k \geq 1$, if (see [1])

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{k-1} |u_n - u_{n-1}|^k < \infty$$

Received November 17, 1995; revised May 12, 1997 and June 3, 1998.

1991 *Mathematics Subject Classification.* 40D15, 40F05.

Key words and phrases. Absolute summability factors, Riesz methods of summability.

and it is said to be summable $|\overline{N}, p_n; \delta|_k$, $k \geq 1$ and $\delta \geq 0$, if (see [2])

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n}\right)^{\delta k + k - 1} |u_n - u_{n-1}|^k < \infty.$$

In this special case when $\delta = 0$ (respectively, $k = 1$ and $\delta = 0$) $|\overline{N}, p_n; \delta|_k$ summability is the same as $|\overline{N}, p_n|_k$ (respectively $|\overline{N}, p_n|$) summability. Also if we take $p_n = 1$ for all values of n , $|\overline{N}, p_n; \delta|_k$ summability reduces to $|C, 1; \delta|_k$ summability.

If we write

$$X_n = \sum_{v=0}^n \frac{p_v}{P_v},$$

then $X_n \rightarrow \infty$ as $n \rightarrow \infty$.

Quite recently Bor [3] proved the following theorem.

Theorem A. Let (p_n) be a sequence of positive numbers such that $P_n = O(np_n)$. Let $t_n = 1/(n+1) \sum_{v=1}^n v a_v$. If $\lambda_n \rightarrow 0$ as $n \rightarrow \infty$,

$$\sum_{n=1}^m n X_n |\Delta^2 \lambda_n| = O(1) \text{ as } m \rightarrow \infty \quad (1.1)$$

and

$$\sum_{n=1}^m \frac{p_n}{P_n} |t_n|^k = O(X_m) \text{ as } m \rightarrow \infty, \quad (1.2)$$

then the series $\sum a_n \lambda_n$ is summable $|\overline{N}, p_n|_k$, $k \geq 1$, where $\Delta^2 \lambda_n = \Delta \lambda_n - \Delta \lambda_{n+1}$ and $\Delta \lambda_n = \lambda_n - \lambda_{n+1}$.

2. The main result

The aim of this paper is to generalize Theorem A for $|\overline{N}, p_n; \delta|_k$ summability in the form of the following theorem.

Theorem. Let $k \geq 1$ and $0 \leq \delta < 1/k$. Let the sequences (p_n) and (λ_n) such that conditions of Theorem A are satisfied with the condition (1.2) replaced by

$$\sum_{v=1}^n \left(\frac{P_v}{p_v}\right)^{\delta k - 1} |t_v|^k = O(X_n) \text{ as } n \rightarrow \infty. \quad (2.1)$$

If

$$\sum_{n=v+1}^{\infty} \left(\frac{P_n}{p_n}\right)^{\delta k - 1} \frac{1}{P_{n-1}} = O\left\{\left(\frac{P_v}{p_v}\right)^{\delta k} \frac{1}{P_v}\right\}, \quad (2.2)$$

then the series $\sum a_n \lambda_n$ is summable $[\overline{N}, p_n; \delta]_k$.

If we take $\delta = 0$ in this theorem then we obtain Theorem A.

Remark. It should be noted that if we take $\delta = 0$ in our theorem, then condition (2.2) is superfluous. Because in this case the condition (2.2) reduces to

$$\sum_{n=v+1}^{\infty} \frac{p_n}{P_n P_{n-1}} = O\left(\frac{1}{P_v}\right),$$

which always holds.

We need the following lemma for the proof of our theorem.

Lemma ([3]). *If the condition (1.1) is satisfied, then*

$$nX_n|\Delta\lambda_n| = O(1) \text{ as } n \rightarrow \infty,$$

$$\sum_{n=1}^{\infty} X_n|\Delta\lambda_n| < \infty, \quad (2.3)$$

$$X_n|\lambda_n| = O(1) \text{ as } n \rightarrow \infty. \quad (2.4)$$

3. Proof of the Theorem

Let (T_n) be the (\overline{N}, p_n) means of the series $\sum a_n \lambda_n$. Then by definition, we have

$$T_n = \frac{1}{P_n} \sum_{v=0}^n p_v \sum_{r=0}^v a_r \lambda_r = \frac{1}{P_n} \sum_{v=0}^n (P_n - P_{v-1}) a_v \lambda_v.$$

Hence, for $n \geq 1$, we get

$$T_n - T_{n-1} = \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^n \frac{P_{v-1} \lambda_v}{v} v a_v.$$

Applying Abel's transformation, we have

$$\begin{aligned} T_n - T_{n-1} &= \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} \Delta\left(\frac{P_{v-1} \lambda_v}{v}\right) \sum_{r=1}^v r a_r + \frac{p_n \lambda_n}{n P_n} \sum_{v=1}^n v a_v \\ &= -\frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v \lambda_v \frac{v+1}{v} t_v + \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v \Delta\lambda_v \frac{v+1}{v} t_v \\ &\quad + \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v \lambda_{v+1} \frac{1}{v} t_v + \frac{(n+1)p_n \lambda_n t_n}{n P_n} \\ &= T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}. \end{aligned}$$

Since

$$|T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}|^k \leq 4^k (|T_{n,1}|^k + |T_{n,2}|^k + |T_{n,3}|^k + |T_{n,4}|^k),$$

to complete the proof of the Theorem, it is sufficient to show that

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n}\right)^{\delta k + k - 1} |T_{n,r}|^k < \infty, \text{ for } r = 1, 2, 3, 4.$$

We shall prove this only for $r = 1$, the proof for $r = 2, 3, 4$ is similar.

Using Hölder's inequality we have that

$$\begin{aligned} \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n}\right)^{\delta k + k - 1} |T_{n,1}|^k &\leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n}\right)^{\delta k - 1} \frac{1}{P_{n-1}^k} \left\{ \sum_{v=1}^{n-1} p_v |\lambda_v| \frac{v+1}{v} |t_v| \right\}^k \\ &= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n}\right)^{\delta k - 1} \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_v |\lambda_v| |t_v|^k \left\{ \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_v \right\}^{k-1} \\ &= O(1) \sum_{v=1}^m p_v |\lambda_v| |t_v|^k \sum_{n=v+1}^{m+1} \left(\frac{P_n}{p_n}\right)^{\delta k - 1} \frac{1}{P_{n-1}} \\ &= O(1) \sum_{v=1}^m \left(\frac{P_v}{p_v}\right)^{\delta k - 1} |t_v|^k |\lambda_v| \\ &= O(1) \sum_{v=1}^{m-1} \Delta |\lambda_v| \sum_{r=1}^v \left(\frac{P_r}{p_r}\right)^{\delta k - 1} |t_r|^k + O(1) |\lambda_m| \sum_{v=1}^m \left(\frac{P_v}{p_v}\right)^{\delta k - 1} |t_v|^k \\ &= O(1) \sum_{v=1}^m |\Delta \lambda_v| X_v + O(1) |\lambda_m| X_m \\ &= O(1) \end{aligned}$$

as $m \rightarrow \infty$, by (2.1) - (2.4).

If we take $p_n = 1$ for all values of n in Theorem, then we get a result related to $|C, 1; \delta|_k$ summability factors.

References

1. H. Bor, *On two summability methods*, Math. Proc. Cambridge Philos. Soc. **97** (1985), 147-149.
2. H. Bor, *On local property of $|\bar{N}, p_n; \delta|_k$ summability of factored Fourier series*, J. Math. Anal. Appl. **179** (1993), 646-649.
3. H. Bor, *On the absolute Riesz summability factors*, Rocky Mountain J. Math. **24** (1994), 1263-1271.
4. G. H. Hardy, *Divergent Series*, Oxford University Press, 1949.

DEPARTMENT OF MATHEMATICS, ERCIYES UNIVERSITY, 38039 KAYSERI, TURKEY
E-mail address: bor@zirve.erciyes.edu.tr